BAYVI EW OUTDOOR TABLE

@ Table Sides - 2 pcs

4

Table Support -1 pc

@ Table Top -1 pc

@ M6 x 30mm Bolt - 8 pcs

)

@ M6 Washer - 8 pcs

STEP 1 Using the M6x30mm bolts (1) and M6 washers (2), attach the table support (B) to
the table sides (A).

STEP 2 Using the M6x30mm bolts (1) and M6 washers (2), attach the table top (C) to the
table sides (A).




LIMITED 1-YEAR WARRANTY

WHAT IS COVERED

This warranty covers any defects in
materials or workmanship, with the
exceptions stated below.

HOW LONG COVERAGE LASTS

This warranty runs for one (1) year from
the date of purchase.

WHAT IS NOT COVERED

The warranty applies only to the original
purchaser and does not cover: (a) wear
and tear; (b) improper maintenance,
misuse, or alteration; (c) repair by
unauthorized representatives; (d)
damage resulting from transit or
handling; or (e) transportation costs.

WHAT WE WILL DO

At our sole discretion we will repair,
replace, or refund any product that
proves to be defective in materials or
workmanship.

HOW TO GET SERVICE

Email “warranty@mavenliving.com” to
submit your warranty claim. Please keep
your receipt so that we may process
your warranty request.

HOW STATE LAW APPLIES

This warranty gives you specific legal
rights, and you may also have other
rights which vary from state to state.

The foregoing warranty shall be exclusive and in lieu of any other warranty, express or

implied, including warranties of merchantability and fitness for a particular purpose

and all other warranties otherwise arising by operation of law, course of dealing,

custom, trade, or otherwise. Neither the seller nor the manufacturer shall be liable for

any injury, loss or damage, direct or consequential arising out of the use or inability to

use this product.

WARRANTY FULFILLED BY MAVEN



BAYVI EW TABLE D'EXTERIEUR

-2 pcs

@ Panneau latéral de table Support de table - 1 pc @ Dessus de table - 1 pc

Boul M6 x 30 Rondelle M6 - 24 Clé Allen -1
@ oulon X _STY’;(I‘:YSI‘ @ onhaelle PCs @ e en o]
s

ETAPE 1 A l'aide des boulons M6x30 mm (1) et des rondelles M6 (2), fixez le support de la
table (B) aux panneaux latéraux de la table (A).

ETAPE 2 A l'aide des boulons M6x30 mm (1) et des rondelles M6 (2), fixez dessus de la
table (C) aux panneaux latéraux de la table (A).




GARANTIE LIMITEE DE 1 AN

CE QUI EST COUVERT PAR LA
GARANTIE

Cette garantie couvre tout défaut de
matériau ou de fabrication, sauf indication
contraire ci-apres.

COMBIEN DE TEMPS DURE LA
GARANTIE?

Cette garantie couvre tout défaut de
matériau ou de fabrication, sauf indication
contraire ci-apres.

CE QUI N'EST PAS COUVERT PAR LA
GARANTIE

La garantie ne s'applique qu'a l'acheteur
original et ne couvre pas: a) l'usure; (b) un
Mauvais entretien, une mauvaise utilisation
ou une altération; (c) réparation par des
représentants non autorisés; (d) les
dommages causés par le transit ou la
Mmanutention; ou (e) les frais de transport.

CE QUE NOUS FERONS

A notre seule discrétion, nous réparerons,
remplacerons ou rembourserons le prix
d’achat de tout produit qui s'avérera
défectueux en raison d'un défaut de
matériaux ou de fabrication.

COMMENT OBTENIR LE SERVICE DE
GARANTIE

Envoyez un courriel a «
warranty@mavenliving.com » pour
soumettre votre demande de garantie.
Veuillez conserver votre recu d’origine afin
gue nous puissions traiter votre demande
de garantie.

COMMENT S'APPLIQUE LA LOI DE
L'ETAT

Cette garantie vous donne des droits
juridiques spécifiques et vous pouvez
également disposer d'autres droits qui
varient d'un état/province a l'autre.

La présente garantie est exclusive et remplace toute autre garantie, expresse ou implicite, notamment les garanties

de qualité marchande et d'adéquation a un usage particulier et de toutes les autres garanties découlant autrement

en vertu de la loi, du cours des affaires, personnalisé, commerce, ou autrement. Ni le vendeur ni le fabricant ne

seront tenus responsables des blessures, pertes ou dommages, directs ou indirects, résultant de I'utilisation ou de

I'impossibilité d'utiliser ce produit.

GARANTIE TRAITEE PAR MAVEN



BAYVI EW MESA AL AIRE LIBRE

@ Panel lateral de la mesa Soporte de la mesa @ Cubierta de la mesa
-2 pcs -1pc -1pc

j

@ Perno M6 x 30 mm

-8 pcs

i

PASO 1 Conlos pernos M6 x 30 mm (1) y las rondanas M6 (2), une el soporte de la mesa (B)
a los costados de la mesa (A).

PASO 2 Con los pernos M6 x 30 mm (1) y las rondanas M6 (2), une la parte superior de la
mesa (C) a los costados de la misma (A).




GARANTIA LIMITADA DE 1 ANO

LO QUE CUBRE

La garantia cubre cualquier defecto de
fabricacion o de material, con las
excepciones que se mencionan mas
adelante.

POR CUANTO TIEMPO ES VALIDA
LA COBERTURA

Esta garantia tiene una duracion de un (1)
ano a partir de la fecha de compra.

LO QUE NO CUBRE

La garantia solo el valida para el comprador
inicial y no cubre: (a) el desgasto por uso; (b)
el mantenimiento incorrecto, el mal uso o
la alteracion del producto; (c) la reparacion
por parte de representantes no autorizados;
(d) el dano generado por el traslado o el
manejo del producto; o (e) los costos de
transporte.

LO QUE HAREMOS

A nuestra entera discrecion, repararemos,
reemplazaremos o reembolsaremos
cualquier producto que tenga defectos de
fabrica o de material comprobables.

COMO OBTENER EL SERVICIO

Envie un correo electronico a
‘warranty@mavenliving.com” para presentar
su reclamacién de garantia. Guarde su
recibo para que podamos procesar su
solicitud de garantia.

COMO APLICAN LAS LEYES
ESTATALES

This warranty gives you specific legal rights,
and you may also have other rights which
vary from state to state.

La garantia mencionada sera exclusiva y reemplazara cualquier otra garantia, ya sea escrita o implicita,

como garantias de comerciabilidad o idoneidad para un fin determinado y cualquier otra garantia que

surja por disposiciones legales, usos del trafico, aduanas, comercio u otros. Ni el vendedor ni el fabricante

asumiran responsabilidad alguna por cualquier lesion, pérdida o dano, sea directo o consecuente, que

surja como resultado de utilizar o no poder utilizar este producto.

GARANTIA CUMPLIDA POR MAVEN



